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Biology

1. Draw the diagram of a sarcomere of skeletal

muscle showing different regions

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ua1xfwNRe9yz


2. Write a short note on sliding filament

theory of muscle contraction.

Watch Video Solution

3. During muscle contraction

Watch Video Solution

https://dl.doubtnut.com/l/_ua1xfwNRe9yz
https://dl.doubtnut.com/l/_AcwJhD9g0GEX
https://dl.doubtnut.com/l/_unirMf6rlCpZ


4. Write the difference between actin and

myosin.

Watch Video Solution

5. What are the different types of movements

exhibited by the cells of human body?

Watch Video Solution

https://dl.doubtnut.com/l/_aQAIRsaqVTSk
https://dl.doubtnut.com/l/_PO2i5XFwCH0Z


6. How do you distinguish between a skeletal

muscle and a cardiac muscle?

Watch Video Solution

7. Name the type of joint between the

following: 

(a) atlas/axis 

(b) carpal/metacarpal of thumb 

(c) between phalanges 

(d) femur/acetabulum 

https://dl.doubtnut.com/l/_IhrVJqtB7MFX
https://dl.doubtnut.com/l/_FJEqeUAKTxYk


Write True Or False If False Change The

Statement So That It Is True

(e) between cranial bones 

(f) between pubic bones in the pelvic girdle

Watch Video Solution

1. Actin is present in thin filament

Watch Video Solution

https://dl.doubtnut.com/l/_FJEqeUAKTxYk
https://dl.doubtnut.com/l/_4y6yz1teBbKo


2. H-zone of striated muscle fibre represents

both thick and thin filaments.

Watch Video Solution

3. Indicate the given statement is true or false.

Human skeleton has 206 bones.

Watch Video Solution

https://dl.doubtnut.com/l/_lRyGanDmXabC
https://dl.doubtnut.com/l/_EaleGrtsu2ZA


Fill In The Blank Spaces

4. Indicate the given statement is true or false.

There are 11 pairs of ribs in man

Watch Video Solution

5. Indicate the given statement is true or false.

Sternum is present on the ventral side of the

body.

Watch Video Solution

https://dl.doubtnut.com/l/_RugY0hYSJKJi
https://dl.doubtnut.com/l/_3y2oGVmf1ISz


1. All mammals (except a few) have __________

cervical vertebra.

Watch Video Solution

2. The number of phalanges in each limb of

human is __________

Watch Video Solution

https://dl.doubtnut.com/l/_hkOPngMjcsRI
https://dl.doubtnut.com/l/_3Encmcu4MTS6


3. Thin filament of myofibril contains 2 ‘F’

actins and two other proteins namely __________

and __________.

Watch Video Solution

4. In a muscle fibre  is stored in

__________

Watch Video Solution

Ca
+ +

https://dl.doubtnut.com/l/_N2LPgVgXsLOG
https://dl.doubtnut.com/l/_Zv7WSVGLt41G


5. __________ and __________ pairs of ribs are

called floating ribs.

Watch Video Solution

6. The human cranium is made of __________

bones.

Watch Video Solution

https://dl.doubtnut.com/l/_W7WdmUH4FG74
https://dl.doubtnut.com/l/_acxoM7mtqq33

